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The product of continuous functions is continuous
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Question # 2 of 10 ( Start time: 02:43:06 AM, 25 May 2021 )

Length or magnitude of a unit vector is—--— :
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If the partial derivative [w.rt
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Range of the function y = 3z° — 2is
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If the partial derivative (w.rt x or ') at any point on the surface: "z=f{x.y)" is zero. then tangent plane at that point will be--—---—- to X-
y plane. y
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To find the limit of f(z,y) = :::_-;—y at (0,0) i f we approach (0,0) through the line z — axis, we get the valu
T
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If the velocity (V1) of a car is 20m/s and velocity (VZ) of bike is 40mjs. where both velocities are southward then which of the following
would be the dot product of these velocities?
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Two vectors A and B are if and only if their scalar product is equal to zero.

N,
K\V
Select the correct option \\<’>

arallel \\
o N\

equal Q%ig\/

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Reid Leid Les

O

r"—“)
perpendicular v
L] \\¥
N\

opposite

XX LRXDAERRXLXLXDAERYRADRDRLLELAEALRLYADALALALRYRRXRLXYAXARXARXRLDILALALLAYLRLYLYALALRYLADILALALALYLALRYRLLYLALLRYALLXILADARYRDIXDALLLIALXAXTLXXIXEIXXXXISRNR

TRV R VR VIR VIV TR VIV IR VIV TR VIOV T VIS VI IO TRV IOV I IV TR VI I VIV I VI VI VI VIV I VI VI TV TV IV TI T VI ¥ IR VIV TV TV T VT VI VI ¥ I VTV TV T ¥ TV T VIV TV Y T VY T VY T VY T VUV T VY R VY R VY e YOy




PEAXRX XX AERXRA AR AR AR ALY ALY
VTV TV eV VeV e Y VeV Ve Ve VeV Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Ve Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Vo Ve Vo Vs Ve Ve Vo Vo Ve Ve Vo

MTH301:Quiz 1 Quiz Start Time: 02:42

Question # 10 of 10 ( Start time: 02:45:39 AM. 25 May 2021)

|'i '
If w = f(z) where z = g(r, s]then% =
Js

_ v/
Select the correct option ‘%vv\/
@ dw  dw Or
O ) -
Q)

.\
Q\/ dw  dw Oz

¢« < ot

| hedd Roid hoid Reid Roid Roid Roid Roid Roid Roid Roid Roid heid Roid Roid Roid Loid Les

s dr ds
o0 du s
O s ds Os
ou_ dw s
O s ds Or

2" account

XX LRXDAERRXLXLXDAERYRADRDRLLELAEALRLYADALALALRYRRXRLXYAXARXARXRLDILALALLAYLRLYLYALALRYLADILALALALYLALRYRLLYLALLRYALLXILADARYRDIXDALLLIALXAXTLXXIXEIXXXXISRNR

TRV R VR VIR VIV TR VIV IR VIV TR VIOV T VIS VI IO TRV IOV I IV TR VI I VIV I VI VI VI VIV I VI VI TV TV IV TI T VI ¥ IR VIV TV TV T VT VI VI ¥ I VTV TV T ¥ TV T VIV TV Y T VY T VY T VY T VUV T VY R VY R VY e YOy




PEAXRX XX AERXRA AR AR AR ALY ALY
VTV TV eV VeV e Y VeV Ve Ve VeV Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Ve Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Vo Ve Vo Vs Ve Ve Vo Vo Ve Ve Vo

—

MTH301:Quiz 1 Quiz Start Time: 01:7

Question # 1 of 10 { Start time: 01:12:23 PM. 25 May 2021 )

Domain of the following function is

f(z,y,z) = zlnzy
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If the partial denvative (w.rt x or ) at any point on the surface: "z=f{>.y)" is zero, then tangent plane at that point will be-—--—- to XY-
plane.
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The partial derivative with respect to z of f(z,y) = 3y + 2”0 is
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If f and its partial derivatives of the first, second and third orders are continuous on an open set,
then at each point of the set is
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If lim flz,y,2) = L1 and lim gz, y, z) = Lo

(za.z)+{z0.1p.20) (.3,2) (0 Hg.20)
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If f(z,vy) = yz® + 2, then ﬂ is
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The chain rule can be taken as the derivative of the outer function and multiplying it times the derivative of the ...
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Two vectors are opposite vectors if they have
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(d) Both (a)and (c). \\ ~——

. &

(b) opposite magnitude

%

(&) same magnitude
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Question # 9 of 10 { Start time: 01:15:12 PM, 25 May 2021 )
Magnitude of the Force vectar: F = -30Newton, is  —--—--— _

| hedd Roid hoid Reid Roid Roid Roid Reid Leid Roid Roid Roid heid heid Roid Ko

Select the correct option
-30 Mewton

O

30 Newton
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Question # 10 of 10 ( Start time: 01:15:23 PM. 25 May 2021)

Two vectors A and B are if and only if their scalar product is equal to zero.

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Reid Leid Les

Select the correct option

perpendicular p X

L] \\>® <—\

equal

0 Qv
& \—
O
opposite

O

3rd account
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MTH301:Quiz 1 Quiz Start Time: (

Question # 1 of 10 { Start time: 01:19:03 PM. 25 May 2021 )

Which of the following should be the scalar multiple (A) such that force : Fy = 20N and F» = —60N satisfy the

| hedd Roid hoid Reid Roid Roid Roid Roid Roid Roid Roid Roid heid Roid Roid Roid Loid Les

Select the correct option m
) A
E A=-1/3
; °
A=-3
; O
A=3
: O
3 A=1/3
g O

XX LRXDAERRXLXLXDAERYRADRDRLLELAEALRLYADALALALRYRRXRLXYAXARXARXRLDILALALLAYLRLYLYALALRYLADILALALALYLALRYRLLYLALLRYALLXILADARYRDIXDALLLIALXAXTLXXIXEIXXXXISRNR

TRV R VR VIR VIV TR VIV IR VIV TR VIOV T VIS VI IO TRV IOV I IV TR VI I VIV I VI VI VI VIV I VI VI TV TV IV TI T VI ¥ IR VIV TV TV T VT VI VI ¥ I VTV TV T ¥ TV T VIV TV Y T VY T VY T VY T VUV T VY R VY R VY e YOy




PEAXRX XX AERXRA AR AR AR ALY ALY
VTV TV eV VeV e Y VeV Ve Ve VeV Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Ve Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Vo Ve Vo Vs Ve Ve Vo Vo Ve Ve Vo
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Question # 2 of 10 ( Start time: 01:19:57 PM. 25 May 2021 )

A zero vector has magnitude equal to zero and ———— direction.

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Reid Leid Les

Select the correct option

NN

O

no

&
\ Y4

downward A

R \
arbitrary S A
upward
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MTH301:Quiz 1 Quiz Start Time: 01:1

Question # 3 of 10 { Start time: 01:20:14 PM. 25 May 2021 )

1fw — f(z,4) where 2 — g(r, )then 2 —
&5

| hedd Roid hoid Reid Roid Roid Roid Roid Roid Roid Roid Roid heid Roid Roid Roid Loid Les

Select the correct option

ﬂ dw Oz dw ﬂ

- — + — =
is dz ds dr ds

O

ow_dwds dw dy
. Q)\/\\/ ds  ds Or + dy s
.

dw _dwds dw Oy
O ds ds s dy Os

bw _ dwbr duwbr
O ds  dr s dr ds
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MTH301:Quiz 1

Question # 4 of 10 { Start time: 01:20:28 PM. 25 May 2021 )

The chain rule states that the derivative of f(g{x)) is.....

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Reid Leid Les

\
Select the comrect option Q v>\/
N

Pla(x))-g'(x) |
. Re

flgix))-fix)

O

fgte)9 \

flg))-gix)

1
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MTH301:Quiz 1 Quiz Start Time: 01:19 PM, 25 M:
Question # 5 of 10 { Start time: 01:20:41 PM. 25 May 2021 ) Total h

The order of differentiation in an nth order partial derivative can be change without affecting the final result whenever the function and all its partial
derivatives of order less than or equal to 'n' are -———-- ]

t3d hedd Reid Loid Reid Roid Roid Roid Roid Roid Lol hoid Reid heid Roid Rt Roid Leid Les

2
/4

Select the correct option v&\/

nat differentiable \\
O O
not continuous ’ \*:\‘{‘
® &
)

differentiable \\\_—

continuous
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MTH301:Quiz 1

Question # 6 of 10 { Start time: 01:20:56 PM. 25 May 2021 )

For which of the following values of "y, the partial derivative of

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Reid Leid Les

Select the correct option \/
i \a

R-{0}

(€

) N\
R\

R-{1.0} &\/

R-{1)
- N\
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Question # 7 of 10 { Start time: 01:21:09 PM, 25 May 2021 ) Tol
If the partial derivative (w.rt > or ) at any point on the surface: "z=f(x.y)" is zero. then tangent plane at that point will be-—-— to XY-plane.
] Select the comrect option

perpendicular

ol
O C\\é\(o

O
\
s \

parallel Qgg\\/ \
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MTH301:Quiz 1 Quiz Start Time: 01:1¢

Question # & of 10 { Start time: 01:21:21 PM. 25 May 2021)

If y=sint and t = €™ then which of the following is partial derivative of w.r.t =

| hedd Roid hoid Reid Roid Roid Roid Roid Roid Roid Roid Roid heid Roid Roid Roid Loid Les

S S S ) S S S S ) S S S S S S S S S S S S S Sy S Sy Sy ) wy wwy wy wwy wwy wwy ww ww ww ww v e - -
py

Select the correct option
V\/ at cost

: R
\\C ——
—ut cost \
I-..‘-."-‘--"'---_

ut cost

—at rnst
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MTH301:Quiz 1 Quiz Start Time: 01:19 PM. 25 May
Question # 9 of 10 { Start time: 01:21:35 PM. 25 May 2021 ) Total Me

2ty

To find the limit of f(z,y) = ;
T

at (0,0) if we approach (0,0) through the line = — axis, we get the value

t3d hedd Reid Loid Reid Roid Roid Roid Roid Roid Lol hoid Reid heid Roid Rt Roid Leid Les

0>
-

Select the correct option
A\
L[] Q\V} /

Mone of these QQ
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MTH301:Quiz 1

Question # 10 of 10 { Start time: 01:21:57 PM. 25 May 2021 )

Value of money is an example of -—— - quantity

| hedd Roid hoid Reid Roid Roid Roid Reid Leid Roid Roid Roid heid heid Roid Ko

Select the correct option

Scalar

ector
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Thank you for watching ©
Share with your fellows
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